AN 2 B

7 SR IR Jo S IR it s B = 56
R2&EHH BIGIR 520 7OhEHA 2 5

O S O L
[ #]]

Tl 0 IR
R RMOKEER) (FEPID



R2EH EBXE HE20 7—OMmHERSE2 %% HEREE
TAE - FEPB - Hm JRRE HAL $5E g &
[ER-YNE i 7 s v e ey
HEFRER—U v = 1. 000
HER =) -var), ¢
[BetR—V > 7 (WEREM) ] 66, ¥+ - L K, , 50m m 35. 900
LT 8B T~
&R =) (F-var), ¢
[BetgR—V o7 (WEFRET) ] 66, @GV b o BEREES m 12. 000
4, . 50mPL T, 8RIE T 5
HER V) VAT, ¢
[BetgR—V o7 (WEFRET) ] 66, , BKE, 50mLL T, $41E m 3. 000
T
WERER—Y 7 VAN = 1. 000
&8 -V (Jvay), ¢ 86,
(AR —Y o7 EHEM) ] ¥EMEL - L R, 50m L m 3.500
T 8E T
ER - A7), ¢
[BetgAR—V o 7 (WEFREM) ] 116, @fE LV b - BEfEES m 18. 300
+,,50mPL T, $RE T
SR R Y 1. 000
(5525 1+ 7 RO ERER] PUOFRBREL- 2 35.000
e o e e Y ONGRBR, [ L
(VT 4 v 7 ROFNLE ] k. S L [al 12. 000
(V75 o 7 R OFEALE R ] FEUEE AGABR, WA, 5] 3. 000
e r s BiGd KRR, r— 7
(oo F 1 v 7 RORN ERBR] W Gl 10mELP [e] 24. 000
WAV IS/ = 1. 000
[>TV 7] Ak AV VAV VN 1. 000
(Vo771 7] 7= VT VN 2. 000
ERHEHETLY £ L0 = 1. 000
[ERiEEE L v F & (—RTABELE) ] E3 1. 000
W i 134 VE i = 1. 000
[ Vo 1 B 2% D VERR (— AR R 52 ] ES 1. 000
EEN T X 1. 000
ERNTERBR kT OB ERR JIS A 1202 3{&,#pt ek 8.000
ERNTERBE  LoOE KRR JIS A 1203 3@, Akt Faw sl 8. 000
SN LTRR ORI ‘f)ﬁ‘F it (5ot S 8. 000

1/4




R2&HH BEXIR ME20 7CHOMMERE2¥E HMERGER
T - FER - ) Bk HLAZ % i &
ENLERBE  LORERRHER JIS A 1205 6 &/ #Uk Akt . 000
ENTERE Lo MrERA R JIS A 1205 31,k Ak . 000
SN LT O AR TR S ey 000
SHIERRB  CURER 5 DT EATERE | gy 000
7ot HE E R E K . 000
TEEREE i T .000
frag =X . 000
a8 (MEmHAMN) AT - A [E] .000
B (P R R A E AR & B <)
RN RCE S W SRR 20 .000
BRSO L& A LS
168 GifAhcs - 2Et) E .000
2. MHERAE
()RR
% & . 000
5 R a i%é’%ﬁ/ﬁr% 0. 3mLh & 000
TR 55, HEJ BT
(25 15° LA E~30° Kiiff, 50m [ 5T .000
LLF
(2) i
G E R E20 .000
790 V=A% E AT ] N =AvYY3 Uk 2. 9L & . 000
(3) % DA
Z O e A 2 E20 .000
[ Oty 2 A2 ] e . 000
—fE R A

1. —fhat i

2/4




R2FHH BEAER 20 7OMMERNE2¥E HERER

TAE - R - AR Birg HAL e i *

(1) —4E5_EAfik%

o

—§EEF B 1. 000

[ Hiz 15 s e 2 ] ARRE A 3. 000

3/4




R2EH BRXE EE20 OMHERNAE2¥EE BERER
AR - R - AR Bk HLAZ Bk {7
B N A ~ M A% 2
1. WEZES
(1) S &
LS 20 1. 000
4 B S h= 3.000
H K 1. 000
BiE (1) 1/500 = 1. 000
i (1) 1/500 = 1. 000
BRI B R TR km 0. 085
i P A B A
il e A PR A B 20 1.000

4/ 4




